Jammu & Kashmir

FICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE

s: Mohammad Amin Ahanger

o: Mohammad Ramzan Ahanger

o: Asham Sumbal Sonawari

g. No.: R-56/"AYY"/CE/CID/PDC/2010-11

ST No: 01AILPA6482F1ZL

hone No: 8082403443

osition of AA: Accorded vide No: 14/SE/Hyd./DB/JJM of 2022-23 dated: 26-08-2022

osition of TS: Issued under No: CE/PHE/DB/520 of 09/2022 dt: 9-9-2022

Subject: - Retrofitting of Water Supply Scheme Seer Jagir by way of laying and fitting of pipe distribution system network (under JJM) (issued under

Tender ID No: 2022 PHE 167010_5)

1. Your on-line tender received in response to this office E-NIT No: Ref: 01/JJM/JSDS of 04/2022 dated: 18-04-2022 (S.No: 03)

2. Superintending Engineer Hydraulic Circle Sopore's authorization issued vide No: SE/Hyd/DB/8442-54 dt:24-09-2022.

3. This office letter of intent issued under No: 5670-74 dt: 03-10-2022

For and on behalf of Lt. Governor of Jammu and Kashmir Union

Territory, contract for the work mentioned above is here by fixed with you on the following rates, terms and conditions.

Α	Rates:	11 1	Overstitu	Allotted	Amount in Rs.
S.	Particulars of Items	Unit	Quantity	Rate	Amount in the
No 1.	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:	cum	4063.00	436.00	(771468.00
2.	Providing fixing of MS flanges to GI Pipes including cutting, welding of flanges, nuts, bolts ,RI cloth complete & all sots of carriage complete job				
2.		joint	310.00	2100.00	651000.00
2.		joint	350.00	1800.00	630000.00
3	The state of the s				297900.00
3.		mtr	2000,00	148.950	/(297900.00

Head Draftsman

Cont. on Page No: 2nd

Dated: 10-10-2022

Advt. Cost: 54.83 lacs

Allott. Cost: 48.25 lacs

Time of Compl.:90 days

Page No: 2nd **W.S.S Seer Jagir under JJM**

		Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
		dia. G.I. pipes	mtr	2000.00	101.15	202300.00
			mtr	1000.00	95.28	95280.00
iii) 65	5 mm	dia. G.l. pipes		2000.00	58.30	116600.00
1:01 50	mm	dia. G.I. pipes	mtr	2500.00	54.62	136550.00
1 10	mm	dia, G.I. pipes	mtr	2500.00	39.14	97850.00
C line	5 mm	dia. G.I. pipes	mtr	2500.00	26.76	66900.00
Twiil ?	20 mi	n dia. G.I. pipes	mtr	4500.00	25.40	114300.00
and the same of the same		- dia GI nine	mtr	3656.70	198.80	726951.9
Filli in lay	ing av trenc ers	vailable excavated earth textuding rock) hes, plinth, sides of foundations etc. in	Cum	3030.70	170.00	
(90 . Pr	ovidi	item 1) ng and fixing of sluice valve , of standard , ISI Mark, reputed make heavy duty ing cost of flanges, nuts, bolts and other				
	tting		job	4.00	41000.0	164000.0
		m dia.	job	5.00	24000.0	120000.0
	100 n	nm dia.	job	3.00	17000.0	51000.0
6.	Provi	nm dia. ding & fixing Gun metal Gate valves with Cl el of approved quality all necessary				
		ssories as complete job.	job	5.00	1568.85	7844.2
6.1		mm Ø Gate valve	job	6.00	942.750	5656.5
7.	Ma wit fix	mm Ø Gate valve king connections of GI distribution branch h GI mains of following size by providing and ing tee, including cutting and threading th				
	pi	pe etc. complete.	each	60.00	666.250	39975.0
7.		5 to 40mmØ	eacl	14.00	1268.80	17763.2
7.	8. P	on mm@ Providing and fixing C.I. double acting air valve of approved quality with bolts, nuts, rubbe insertions etc. complete (The tail pieces, taper of the complete of the c				
-	0.1	etc. if required will be paid separately).	jol	10.00	5000.00	5,0000.0
	9.	20 mm Ø Double acting Providing fixing of 10 thick flanged pipe special viz bends etc. (fabricated as per ground profile) GI pipe including cost of rubber washers, nubbles etc all work as complete job includicarriage of welding machine & Gen set involviously welding at site complete job.	ts,			
	9.1	150 mm Ø GI	jo	b 10.00	4000.00	
	9.1	150 mm Ø GI	jo	b 6.000	3500.00	NAME AND POST OF THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WHEN PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, WH
	9.3	80 mm Ø GI	jo	5.000	3500.00	
	1	The second of the second secon	AND DESCRIPTION OF THE PARTY OF	ob 3.000	3000.00	9000.

Cont. on Page No: 3rd

Page No: 3rd W.S.S SeerJagir under JJM

Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
Carriage of material by Mechanical Transport. Including loading unloading & Stacking upto site of work	agant. Nging si mang kanala sa kanala sa nging giriti			
100mm Ø GI	МТ	2000.000	12.029	24058.000
Below 100 mm Ø	MT	44.960	183.356	8243.686
Total				5483140.59
Quoted percentage of Bidder -12% on all items				657977.00
Allotted cost				4825163,72

hecked by:

Head Draughtsman

Executive Engineer Jal Shakti PHE Division Sopore

Terms and conditions:

- 8. The total amount of the work should in no case exceed beyond Rs. 4825163.00 (Rs.Fourty Eight lacs twenty five thousand one hundred and sixty three only) which includes all taxes, levies etc.
 - 9. The work shall have to be completed by you within a period of 90 days failing which the panality under rules shall be imposed upon you
 - 10. Performance security @ 3% of allotted cost i,e Rs.144754.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the NIT.
 - 11. An agreement shall have to be drawn by you with the department within a period of 07 days from the date of issuance of allotment, failure to execute such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement .
 - 12. The earnest money amounting to Rs.110000/= deposited by you in this office as a bid security against the contract vide CDR No: 2594185 dated : 30-04-2022 shall be considered for release once the performance security @ 3% of allotted amount is deposited by you.
 - 13. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.

Cont. on Page No: 4th

Page No: 4th

W.S.S Seer Jagir under JJM

14. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-17.

ccounts

Officer

Executive Engineer Jal Shakti PHE Division Sopore

copy to the:

- 01. Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.
- 02. District Development Commissioner Baramulla (Chairman DJJM) for favour of information.
- 03. Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of information.
- 04. Assistant Executive Engineer PHE Sub Division Sopore for information and necessary action.
- 05. M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information.
- 06. File Concerned